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First Year Higher Secondary Improvement Examination
Part - 111
ECONOMICS

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes
/General Instructions te Candidates : » \

® There 1s a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.

All guestions are compulsory and only internal choice is allowed.

When vou select a question, all the sub-questions must be answered from the
same guestion itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the guestions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in the
Examination Hall.
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Pick out the correct answer :
The frequency distribution of
two variables is known as .........
a) univariate distribution

b) bivariate distribution

c) multivariate aistribution

d) none of these (1)

Under exclusive method .........

a) the upper class limit of a
class is excluded in the class
interval

b) the upper class limit of a
class is included in the class
interval

¢) thelower class limit of a class
1s excluded in the class
interval

d) none of these 1)

List the reasons for agricultural
stagnation under the British

rule. 3)

Write the name of the wage
employment programme started
in India in 2005. Explain the
achievements of that scheme in
employment generation taking

your village as example. (3)
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AR HEDOO TIOOETNS)BE)E:.
6N 2IBRINS ERAYED Qllmoenoc
@GIQORSIME............

a) wemeaidlewyg allmasmo

b) eeeicidlewg allmasmo

c) adslecudlewg allmoemo

d) oyegleysas amiog 1)

agsmigumilal Al ...................
a) 80} bpomle® aolaiclwl

QRO O8O @) mlomyo
BF1OU0HM.

b) ey adgamleR 9ajaidlw
UdROMEOgEWI®  ©ReQ|S;
MmN},

c) 80y dgevleq olaiaidlw
QUBQROMEO] O @ mlamgo
a¥looseyMy.

d) ecuewommyag). 1)

en18)ati’ BOEMBHOLIE®  HOBaH1H
COOIBIWIHS MI®oBMOUMNWINS

DHOVEMETBUWD f) P30, (3)

oyl 2005 @@ @pooElay saimm
OO alBlalOSIWNS GaleVFD)k.
MeBaIns (1NODOE HEIANMEMMIWS
og)"sg,asmgooe;om; O®OYIRIIVOEIBGD
M jadslenM@I@ @Y aldlalosiwies

emgemd  Afldleeds. (3)
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Classify the following as sources 5. @oey ®mMI588UO®  OMaHy
of human capital and causes of oewnemled ooallsasd ag)tmio
poverty. BoR1(BYEWIOM HOVEMEBWBD  ag)(Mo
Investment in health, ®0o )56 16s.
indebtedness, unemployment, @PEOOM) MoWem®  MleHHalo,
investment in education, HHseeeeml, omovlelgown,
inequality, investment on job ey PoWeEMm MleHHUalo,
training. (3) @momlo, emoFld aldlwlem
QoWOED -ilGHHalo.
Prepare a frequency 6. ®oe¥ OMIAlENMM BEHEBELNICWO
distribution by exclusive o] dgomeoge 5 @ agSyeD
‘method taking class interval of g MGIlal  delold 8o
5, from the following data : 3) @O Ql®osMo ®QOOIHE}E:.
08 15 05 09 10 14 25 21 20 09
06 16 11 17 19 28 30 26 21 13
a) Explain the functions of 7. 2) adlndolows W oD
environment. 2) | Alud 6.
b) Distinguish between
carrying capacity and b) asll@l@yes | @oeaBomiss
absorptive capacity of ol 9PBOL0gIOMISE Lol
environment. (2) gl edEIEe 2] P10
¢) Explain the factors c) oggled @0l 21O R
responsible for land S:006MEMBR ANRE)E: L8
degradation. 4)
OR anegwslad
. Define sustainable development. ayudle afldmmo MIdQaleeid.
Describe the strategies for andle allemnevle oOmeaBd
sustainable development. (8) alaidleee.
Explain the uses of statistics. 2 | 8~ WoglgWl& Mo}  oaleomamMd

allodies .

226

3)

3)

(2)

(2)

(4)

()

()

Turn Over



9. Distinguish between sampling 9. comewnsucemones avoqQflot3 emosrid
and nonsampling errors in data omyiowy’ DIOIaF:N)
collection. (2) QB0 9 @05

Write one word for the Q. 10 and 11. Ganoeymed: 10. mpo 11. mp eganssic

BDAORO 0g) LY D:.

10. The most frequently observed ;

10. sowemgld  aggae BJSIO @D
data value. (1) .
@OUB®T L)) QUM

11. Sum of the values of all 11. midlesem oeyame;0s ©16 Q@
observations divided by the mldlenememg s ageno edo6me
number of observations. (1) AOAEHIBMUORD &I,

12. Find standard deviation and 12. @oav Hemlofldleaim aomemges
coefficient of variation for the QoBMMB W wlafswanmyo
following data : (8) E0ag)allayynd ©0ad sQBlc@anmyo

BEENBET b,
Marks Number of students
olGFe) SlBROS ag)gno
10-20 5
20-30 8
- 30-40 16
40-50 8
50-60 3
OR @06 Q)61 @
Find quartile deviation of the &gl moemlaflsies eomanges
above data. Also find coefficient /080030 aflaflzwaud @:omys.
of quartile deviation. e oagadlayy@ 80ad" &ode6Sd
lafleanmio @06m) .
KR-79 4
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13. The size of land holdings of 380
families in a village is given

below. Find the median size of

13. &0y wononiea 380 eysiomiamans
osamnelenas edlwies eoaallam

alglwias aflueesd ®oOeY

226

land holdings. 3) OMDHOSIOTIT LN, OBNOR MOWydho
B06M>. (3)
Size of land holdings (in acres) Number of families
@IS @S (afencimd) BaYSIONIETBYIOS ag)eRo
0-100 40
100-200 89
200-300 148
300-400 64
400-500 39

14. Explain the relationship 14. omyayy olerwmaile  MoTUE®IH,
between human capital and asdoj@lc ®anlengs  eIqwo
economic growth. 3) | i@ ee)e. (3)

15. Kerala government initiates 15. eomaienyall adaviefleoimalm’

' measures to encourage organic SHOG mdHe0d MSalSld @
farming and appointed actress @DOoEILNBH@I MS] M) QAUORYEID
Manju Warrier as the brand 0P al@laloslwes (alaldond:@ow
ambassador of this programme. moolensnwio oaumy. ezl
List the benefits of organic drjodd] @OS BMZETBURD f)FIO)8:. (2)
farming. (2)

16. List the mnames of the 16. @oevqjo@ymaiwies 9@ oem
programmes which paved the oml@ aflgjUeenow adwmallm’
way for considerable increase in BHO0EMDOW UELO1H816S
the production of ......... BAIOQLYDB>.

" a) Fruits a) alPemsmd
b) Milk (2) | b) atod (2)

17. State true or false. Correct the 17. emego wale@d agOMP®IL:.

statement if it i1s wrong. omROaeMBsIad @Dl ag)Pioide:.
The Industrial Policy 1956 ea1 auyoIMRlE: MW(aleawo
Resolution, 1956 classified apaImowemeg moal alleownamsgowl
industries into four categories. (1) @oo@ldlay. (1)
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18.

19.

20.

21.

22,

23.

. d)

If the companies in developed
countries stop outsourcing to
India, it will be a heavy loss to
the Indian youth. Explain.

Explain the issues in the

construction of index numbers.

The steps towards making a
project are given below. Arrange
them in chronological order.

(Conclusion, collection of data,
choice of target group,
organization and presentation of
data, identifying a problem,
analysis and interpretation)

a) Differentiate between the
primary data and secondary
data.

b) List the sources of primary
and secondary data.

Fill in the blanks with the
correct answers given in the
bracket.

(India, Pakistan, China)
a) First five year plan of
commenced in 1956.
Maternal mortality rate is
highin ...

c) Proportion of people below
poverty line is more in
Reforms in
introduced in 1978.

b)

Differentiate between
commercial sources of energy
and noncommercial sources
of energy.

Write any two names of

b)

renewable sources of energy.
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18.

19.

20.

21.

22.

23.

aflemlo oomyeBglen saumle:d

O ELI 6688 all0ocgoel
@vaimomiaflojod @@ snomyeiee
62101800006 &80  HMED

B0 WdH60. fi0udle ..

Mald Moblydh-a1es Aol
eMAIS;M (aIMemd  lleUdleebs.

B0} EIORMBS MYO0IBNM@IONR
“RISEBWD @6 @MIElENM]. @A
QO

{(Mwamo, cEMEweIteMO, sodemRy
(DI i68 GoemmSen, B3
816S (MoRIDSMAIje @OIMAEM0,
630} D& @D O NSO,
aflogeinallo Qu2aPMAL0)

a) (owals BEHEMBR agOmAM0
el cemaRd ageammyo
BRI @609 1®1.

odie camanmgieswe clielw
BOMEBYIESWIo  HOQNSEBR
Qg) P>

b)

Eriosegied Mlamye walwow oEmeo
2g)SIOEDLIE] aliClafleed.

(00D, aJodslaunom, e6.aim)
................ AR alerAMIO ataool
osedlws 1956 eoem.

b) aooyacem  mlews” aggaie
BYSIODD ........... 106,

c) BoQ(BIGOAIW S  ®OOYW 88
RMEBBROS @OMIOMo a@QQI0

w

BYSIOB ... el0em.
d)

@@oofloe 1978 eioen.

a) 9odomovle)d aroemlery
poaflsemgo aloemleRymo
poallsemge cdd @l Pimie:.
9VdLREMIOR  al3MOIIEWIN
WIWIEOW @6 HOAISEBEIAS

b)

BIODEI®)bs.
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24.

The following table shows the
sectoral contribution to GDP (in
percentage) in 1950-51 and

1990-91.

Sector 1950-51 1990-91
Agriculture 59.0 34.9
Industry 13.0 24.6
Services 28.0 40.5
Total 100.0 100.0

a) Evaluate the changes in
sectoral contribution.

b) Represent the above data of
1950-51 using a pie diagram.

@) Y!

@y

(2)

3)

X

a) Write the types of
. correlations represented by
the above diagrams.
Write the types of
correlations in the following
cases : A
1) When income rises,
consumption also rises
11) When the price of apples
falls, its demand
increases

b)

KR-79
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soamyes GDP olad 1950-51 ejo
1990-91 eago allallw coalai&mges
MoBIUM (®AOMEMIT) ®OOY
@M@l eeymy.

caeuel

1950-51

1990-91

&yl

59.0

34.9

QMoo

13.0

24.6

GauLMo

28.0

40.5

@O

100.0

100.0

a)

b)

(b)Y

CROURISHEINS MocdAUMWIeR
20Qemes fleiQlye .. ’
1950-51 eel camemes 60} 6l
Dalewowulay

(2)

W (Wo
@O Claflands.

3)

(d)y

a)

b)

X
0 gl @ &0emla i@l m
2l(@BR a@@®  VaOEIaWo
B:06MBOYMY )M af)FY®Ibs.
®OOPQOWIM (VO I0EIBEI6E
MVOENITWO ) PI® 6.
1) QUOMOMo S)BTUOR

OAIBBINAU IS,

11) @vqlfiglod allel eyowiemioid

)

(2}

@GO C2I0BMo BYSHIM.
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26.

27.

28.

The plot of Malayalam film
‘Midhunam' revolves around the
struggles of the hero to get
necessary licenses as required to
commence a biscuit company.

This was the general condition
of all businessmen in India
before 1991. Critically evaluate
the policies of Government of
India on industrial development

during 1950-1990.

If the hero of the film
'Midhunam' starts the company
after 1991, he does not face the
problems like 'Permit Licence
Raj'. Explain this with the help
of the liberalization measures

introduced in India since 1991.

Give one word.

The process of moving from self-
employment and regular
salaried employment to casual

wage work.

3)

3)

D

| 26.

217.

28.

ao) enlleng emial @mysemmaiioy

QUUIDOQ eIy &R

aiglenymm i’ MO M
@miealenom  miiaulmySie:806m’
‘alloymo’ agym oeiwog mlnlawes
(IWom &omamy. 1991 o oymi
omyiea  ales  elavimqy)
BO0)ESWI0 OO EDETBOMDEN
apfloymy. 1950 mypo 1990 myo
gswl@ EHA®Y0

mS(;H']EJOcQGﬂ(D)

walemead
QU O U aVO o
nweses  lodnmodasndwl

afleifley@myss.

‘aliymo’ cvlrflaefies mowd:m 1991
o ewayndoem nilaveeg Hmilml
oseElwemss@ ‘eidaly eeelmudmy

0% GalORNRSs ([ IBMETBUW smalesensl

adlgioioymy. 1991 oo
msaflelneslw | 3OO B OEM
MSalSldhgleos MaOIWEEMONS
QlteBOOLeH:.

8 QUIOHOPIH:.
o emolad ealgpmMmAine qudloo
WIURHNI 00, &]0aH] @

o®o¥12106ld:800 BOOIM (al(@:lw.
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